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Abstract: This paper provides some review comments for the new requirements identified by use case “5.4 Use case of line current differential protection in power distribution grid”.
If those requirements will be transferred to a TS most of their background information contained in the other sections of the use case will be lost, even if there will be some additional non-normative text added in the destination TS. For this reason, the author has deliberately taken the approach to first focus on the new requirements to see if they could be understood without having read the rest of the use case and provide comments from that perspective.
5.4.5
Existing features partly or fully covering the use case functionality

The communication mechanism is partly covered by existing 5G functionalities. Support of IEEE 1588 PTP is an existing feature. Additional traffic from running IEEE 1588 PTP is around 0.004 Mbps. In TR22.804 [10] there is attempt to touch upon the similar case, where the clock synchronization accuracy ≤ 10 μ𝑠, and latency requirement is 15ms. 
The 5G system shall support an end-to-end latency of less than 5ms or 10ms. Here the end-to-end latency is between two UEs including two wireless links.

The 5G system shall support communication channel symmetry in terms of latency (latency from UE1 to UE2, and latency from UE2 to UE1) between the two relays, with the max asymmetry < 2ms.   

5.4.6
Potential New Requirements needed to support the use case

 


[PR. 002.option3] The 5G system shall provide the protection relay with timing information with the comparable precision as GNSS-based precision. The IEEE 1588 time master in NG-RAN should provide protection relays with IEC 61850-9-3 based power/utility profile

��How does 3GPP know the voltage level?


  Please explain better why none of the vast number of different perf. Reqs e.g. in 22.104 Table 5.2-1 are not suitable


At the moment I’d say this is covered and thus should be moved to 5.4.5





